create database hasebat ;

use hasebat;

create table hasbat(
supplierno int not null,
citycode int not null,

cityname varchar(50) not null,
partno varchar(10) not null,
quantity int not null,

primary key (supplierno, partno));

insert into hasbat

values(01,10,'Tripoli','p1',7) ;

insert into hasbat values

(01,10,'Tripoli','p2',17) ,(01,10, Tripoli','p3',6) ,
(01,10, Tripoli','p4',5) ,(01,10, Tripoli','p5',5) ,
(02,20,'benghazi','p1',8) ,(02,20,'benghazi','p6',7) ,
(02,20,'benghazi','p2',17) ,(03,30,'nalot’,'p3',6),
(04,40,'inaun’,'p2',5),(04,40,'jnaun’,'p1',5),

(05,50,'algarabolli','p5',8);



